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QUESTION 1

What are true statements about dependencies? (Choose two)

A. Dependency relationships are intransitive.

B. Dependency relationships have runtime semantics implications.

C. Dependency relationships do not have runtime semantics implications.

D. A dependency implies the semantics of the client(s) are complete without the supplier(s).
E. A dependency implies the semantics of the client(s) are incomplete without the supplier(s).

Correct Answer: CE

QUESTION 2

What is specified by a use case?

A. set of user interface screens

B. required usage of the system

C. possible path based on a value

D. business justification for system development

Correct Answer: B

QUESTION 3

What can be a classifier of an instance specification?

A. only a class

B. only a class that is not abstract

C. any classifier except for an association

D. any classifier, including class, association, and data type

E. any classifier except for an association, unless it is an association class

Correct Answer: D

QUESTION 4

What does a endency mean in a relationship between one element and another?
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A. specifies how it uses another element

B. specifies how it realizes another element

C. specifies how one element implements another element

D. requires another element for its full implementation or operation

Correct Answer: D

QUESTION 5

Ten employees in a department can submit an expense form to have their expenses repaid. manager is required to
approve the expense forms. many actors have we described?

A. 0 actors
B. 1 actor
C. 2 actors
D. 10 actors
E. 11 actors
F. 12 actors

Correct Answer: C

OMG-OCUP-100 PDF OMG-OCUP-100 Practice OMG-OCUP-100 Study
Dumps Test Guide

OMG-OCUP-100 PDF Dumps | OMG-OCUP-100 Practice Test | OMG-OCUP-100 Study Guide 3/3


https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
http://www.tcpdf.org
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html
https://www.geekcert.com/omg-ocup-100.html

